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Ql. CO-2 (a) Use the methods below to normalize the following group of data: %‘% %@@% [5]
200, 300, 400, 600, 1000

(i) min-max normalization by setting min = 0 and mb
(ii)  z-score normalization

Q2. CO-3 (a) Suppose a market shopping data warehouse colaglstg four i i [3]
date, product, and store, and two measures: counﬁ; /
real sales in dollar.

warehouses.

(i) Draw a schema diagram for the af)o
listed in (i).
(b) Write the difference between ¢ d OLTP under the following headings. [2]
* (i) DB Design (ii) Dataiii) ffsﬁge iv) Access

Q3. CO-4 (a) Give mathematlc?a; rmylation of anti-monotone property of support also explain [2]

01; are- geuting Apriori Algorithm for frequent pattern generation and you 2]

44,/

Q4. CO-4 E}fplam ﬁgJLAT Algorithm for Frequent Item set generation. A database has four transactions. [6]
Let rﬁm suﬁ" 50%. Find all frequent item sets usmg ECLAT and FP-Growth Algorithms
respectively. Compare the efficiency of the two mining processes

TID Items_bought
T10 {I1,13, 14}
T20 {12,13, 14}
T30 {11, 12,13, 14}
T40 {12, 14}

Suppose that the data mining task is to cluster points (with (x, y) representing location)
into three clusters, where the points are A1(2, 10), A2(2, 5), A3(8, 4), B1(5, 8), B2(7, 5),
B3(6, 4), C1(1, 2), C2(4, 9). The distance function is Euclidean distance. Suppose initially
we assign Al, B1, and C1 as the center of each cluster, respectively. Use the k-means
algorithm to show only i) The three cluster centers after the first round of execution.

it) The final three clusters

Q.5 CO-5 [5]



